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PROFIT & LOSS ASSIGNMENT 
 

1. A buys an old scooter for Rs. 4700 and spends Rs. 800 on its repairs. If he 
sells the scooter for Rs. 5800, his gain percent is:                                       

a. 4 
4

7
%   b. 5 

5

11
%  c. 10%   d. 12%, 

 A xU gioa ,U rf;fu thfdj;ij & 4700 nfhLj;J thq;fp NkYk; 
 mjid gOJghh;f;f & 800 nrytpLfpwhh;. mth; me;j ,U rf;fu thfdj;ij 
 & 5800 -f;F tpw;wpUe;jhy; tUfpd;w yhg rjtPjk; vd;d?  

a. 4 
4

7
%   b. 5 

5

11
%  c. 10%   d. 12%, 

 
2. A shopkeeper purchased 70 kg of potatoes for Rs. 420 and sold the whole lot 

at the rate of Rs. 6.50 per kg. What will be his gain percent?                       

a. 4 
1

6
%  b. 6 

1

4
%  c. 8 

1

3
%  d. 20% 

 xU filf;fhuh; 70 fpNyh cUisf;fpoq;if & 420-f;F thq;fp fpNyh & 
 6.50 vd;w tPjj;jpy; tpw;fpwhh;. vdpy; mtuJ yhg rjtPjk; vd;dthf 
 ,Uf;Fk;?  

a. 4 
1

6
%  b. 6 

1

4
%  c. 8 

1

3
%  d. 20% 

 
3. A man buys a cycle for Rs. 1400 and sells it at a loss of 15%. What is the 

selling price of the cycle?                                                                                          
a. Rs. 1090               b. Rs. 1160                c. Rs. 1190                d. Rs. 1202 

 xU kdpjd; xU kpjptz;bia & 1400 f;F thq;fp mjid 15% el;lj;jpy; 
 tpw;fpwhh;. vdpy; kpjptz;bapd; tpw;gid tpiyia fhz;f.  

a. Rs. 1090                c. Rs. 1160                c. Rs. 1190                d. Rs. 1202 
 

4. A sells an article which costs him Rs. 400 to B at a profit of 20%. B then sells 
it to C, making a profit of 10% on the price he paid to A. How-much does C 
pay B? 
a. Rs. 472                 b. Rs. 476                  c. Rs. 528                  d. Rs. 532 
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A & 400 nfhz;l xU nghUis 20% yhgj;jpy; B – aplk; tpw;fpwhh;. B – A 
tplk; tpw;w tpiyapypUe;J 10% yhgk; itj;J C – aplk; tpw;fpwhh; vdpy; C 
– B aplk; vt;sT nfhLj;jpUg;ghh;.  
a. Rs. 472                 b. Rs. 476                  c. Rs. 528                  d. Rs. 532 
 

5. By selling an article for Rs. 100, a man gains Rs. 15. Then, his gain% is : 

 a. 15%                       b. 12 
2

3
%                    c. 17 

11

17
%                  d. 17 

1

4
% 

 xU nghUs; & 100-w;F tpw;f;Fk; nghOJ & 15 yhgk; fpilf;fpwJ. vdpy; 
 yhg rjtPjk; vd;d?  

 a. 15%                       b. 12 
2

3
%                    c. 17 

11

17
%                  d. 17 

1

4
% 

 
6. When a commodity is sold for Rs. 34.80, there is a loss of 2%. What is the 

cost price of the commodity? 
 a. Rs. 26.10               b. Rs. 43                    c. Rs. 43.20               d. Rs. 46.40 
 xU nghUs; & 34.80-f;F tpw;fg;gLk; nghOJ 2% el;lk; Vw;gLfpwJ vdpy; 
 me;j nghUspd; cz;ik tpiy vd;d?  
 a. Rs. 26.10               b. Rs. 43                    c. Rs. 43.20               d. Rs. 46.40 
 

7. The sale price of an article including the sales tax is Rs. 616. The rate of sales 
tax is 10%. If the shopkeeper has made a profit of 12%, then the cost price of 
the article is : 

 a. Rs. 500  b. Rs. 515    c. Rs. 550  d. Rs. 600 
 xU nghUs; mjd; tpw;gid thpAld; Nrh;j;J & 616 – w;F tpw;f;fg;gLfpwJ 
 tpw;gid thpahdJ 10% MFk;. NkYk; mg;nghUis tpw;Fk; nghOJ 12% 
 yhgk; fpilf;fFnkdpy;> mg;nghUspd; cz;ik tpiyahdJ  
 a. Rs. 500  b. Rs. 515    c. Rs. 550  d. Rs. 600 
 

8. When a plot is sold for Rs. 18,700, the owner loses 15%. At what price must 
the plot be sold in order to gain 15%?                                                  
a. 21,000             b. Rs. 22,500             c. Rs. 25,300             d. Rs. 25,800 
xU kidaplk; & 18>700 f;F tpw;fg;gLk; nghOJ mjd; chpikahsh; 15% 
el;lk; milfpwhh;. 15% yhgk; fpilf;f me;j kidaplj;jpd; chpikahsh; 
vt;tsT &gha;f;F tpw;f;f Ntz;Lk;.  
a. 21,000             b. Rs. 22,500             c. Rs. 25,300             d. Rs. 25,800 
 

9. A fruitseller sells mangoes at the rate of Rs. 9 per kg and thereby loses 20%.-
At what price per kg, he should have sold them to make a profit of 5%?  
a. Rs. 11.81               b. Rs. 12                    c. Rs. 12.25               d. Rs. 12.31 
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xU gotpahghhp khk;goj;jpid fpNyh & 9-f;F tpw;Fk; nghOJ 20% el;lk; 
Vw;gLfpwJ. me;j gotpahghhpf;F 5% yhgk; fpilf;f mth; xU fpNyh 
vj;jid &gha;f;F tpw;f Ntz;Lk;.  
a. Rs. 11.81               b. Rs. 12                    c. Rs. 12.25               d. Rs. 12.31 
 

10. A shopkeeper sells one transistor for Rs. 840 at a gain of 20% and another for 
Rs. 960 at a loss of 4%. His total gain or loss percent is :  

a. 
15

5
17

loss  b. 5 
15

17
% gain  c. 6 

2

3
% gain   d. none of these   

xU filf;fhuh; xU buhd;rp];lh;-I & 840-f;F tpw;gid nra;J 20% yhgk; 
ngWfpwhh;. kw;nwhd;iu & 960 f;F tpw;W 4% el;lk; milfpwhh;. vdpy; 
mtUila nkhj;j yhgk; my;yJ el;lk; rjtPjk; fhz;f.  

a. 
15

5
17
el;lk;     b. 5 

15

17
% yhgk;  

c. 6 
2

3
% yhgk;     d. ,tw;Ws; vJTkpy;iy  

 

11. If selling 
3

4  
of an article is of its cost price, the profit in the transaction is:  

a. 16 
2

3
%  b. 20 

1

2
%  c. 25 

1

2
%  d. 33 

1

3
%  

xU nghUspd; tpw;gid tpiyahdJ> mg;nghUspd; cz;ik tpiyapy; 
3

4
gq;fhFk;. vdpy; me;j ghpth;j;jidapy; yhg rjtPjk; vd;d?  

a. 16 
2

3
%  b. 20 

1

2
%  c. 25 

1

2
%  d. 33 

1

3
%  

 
12. The ratio of the cost price and the selling price is 4 : 5. The profit percent is : 

a. 10%  b. 20%  c. 25%   d. 30% 
cz;ik tpiy kw;Wk; tpw;gid tpiyapd; tpfpjk; 4 : 5 vdpy; yhg rjtPjk; 
vd;d?  
a. 10%  b. 20%  c. 25%   d. 30% 
 

13. If selling price is -doubled, the profit triples. Find the profit percent : 

 a. 66 
2

3
  b. 100    c. 105 

1

3
   d. 120 

tpw;gid tpiyahdJ ,U klq;fhFk; nghOJ> yhgk; %d;W klq;fhfpwJ. 
vdpy; yhg rjtPjk; fhz;f.  

 a. 66 
2

3
  b. 100    c. 105 

1

3
   d. 120 

 
14. The C.P. of an article is 40% of the S.P. The percent that the S.P. is of C,P. is: 
 a. 250   b. 240   c. 60   d. 40 
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 xU nghUspd; cz;ik tpiy mjd; tpw;gid tpiyapy; 40%. vdpy; 
 mg;nghUspd; tpw;gid tpiyahdJ cz;ik tpiyapy; vj;jid rjtPjk;?  
 a. 250   b. 240   c. 60   d. 40 
 
15. The profit earned by selling an article for Rs. 832 is equal to the loss incurred 

when the same article is sold for Rs. 448. What should be the sale price for 
making 50%, profit?                                                                       
a. Rs. 920          b. Rs. 960          c. Rs. 1060        d. Rs. 1200        

 xU nghUis & 832-f;F tpw;Fk; nghOJ fpilf;Fk; yhgKk; mNj 
 nghUis & 448- f;F fpilf;Fk; tpw;Fk; nghOJ fpilf;Fk; el;lKk; rkk;. 
 vdpy; 50% yhk;  fpilf;f> me;j nghUs; vt;tsT &gha;f;F tpw;f;fg;gl 
 Ntz;Lk;?  

a. Rs. 920          b. Rs. 960          c. Rs. 1060        d. Rs. 1200        
 
  
 


